
In vigore dal - Effective from    15-12-2021114

A

B C

C

N

NO

O
J

J

L
L

FGI
J

M

D

G

K
K

J
O

O

H
H

E F

I

G
I

I

Tav. 55 CARENATURE
BODYWORKS MINI EXP E MINI KID



Rif. Cod. MINI EXP AND MINI KID BODYWORKS ￥

55 Description Tax  included
A 0306.ADP ﾌﾛﾝﾄｽﾎﾟｲﾗｰ M5 ONLY ROOKIE M5 Rookie front fairing without supports 15,510
B 0302.ADP ﾌﾛﾝﾄﾊﾟﾈﾙ M5 ROOKIE M5 front spoiler 6,820
C 0300.AFP MINI ｻｲﾄﾞﾎﾞｯｸｽ UNICO Mini Kid, Mini EXP side box 12,320
D 0305.BA ﾌﾛﾝﾄﾊﾟﾈﾙﾛｱｽﾃｰ M8-CIK/M5-STD/135mm M5 lower spoiler's support Standard 2,640
E V.TPSCEI6X25 ｻﾗﾎﾞﾙﾄ 6X25 TPSCEI screw 6x25 mm 44
F 0033.00 ﾛｾﾞｯﾄﾜｯｼｬｰ M6/ALU Biconical AL washer Ø 6 mm 264
G 0031.00 ﾗﾊﾞｰﾜｯｼｬｰ6X20 Rubber Ø 6x20 mm Red 88
H V.TCE6X20 ｷｬｯﾌﾟﾎﾞﾙﾄ 6X20 TCEI screw 6x20 mm 33
I R.P.6X12 ﾜｯｼｬｰ D.6x12 Washer Ø 6,3x12,5x1 mm 22
J D.M6A.B. ｾﾙﾌﾛｯｸﾅｯﾄM6 (ﾅｲﾛﾝ) A.B. nut M6 mm 22
K D.M6A.A. Dado M6 A.A. A.A. nut M6 mm 0
L 0304.D0 ﾌﾛﾝﾊﾟﾈﾙﾊｲｽﾃｰ M5/STD 1pc M5 upper spoiler's support Standard 2,640
M V.TPSCEI6X20 ｻﾗﾎﾞﾙﾄ 6X20 TPSCEI screw 6x20 mm 44
N V.TB6X15 ﾎﾞﾀﾝｽｸﾘｭｰ 6X15 TB screw 6x15 mm 55
O R.P.6X18 ﾜｯｼｬｰ D.6x18 Washer Ø 6x18x1 mm 11


